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70,000 *60=*52 21,000
cWEFEHH =d A
70,0003 *20=+52] 7,000
ocZFA =& S HiY A 3E
3,000,000 #52] 15,000
oU=2st= KlotE=ItE 56,400
- A== Adl 6,250 x7,904m" 49,400
-8 WX 2,000,000 *3H 6,000
—bi=EE SX2e] 200,000 5CH 1,000
oI AL Not=itd HSAIE Ebl
20,0003 *1504 2=+ 123 3,600
o )BAL HE KA
7,500&%2,079m" 16,593
o)A 283 HA
500,000 22 1,000
o )EAA JIAHA H+EE KX 2
150, 0003 *4CH 600
oR)EHA MHELH ¥ 2HE RA 22
700,000 x6IH A 4,200
cuSHLBHE A=K
6,000 %2,992m" 17,952




SA: 3D
A B ¥ WA 22| 2 (LeSSHY/LeAE)
SRl MEta SMEAL 22| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 2,950 2,950
01 2LHoIH 2,950 2,950
Ozldl A=K HE3| HAIF 740*(%%8?
LYW S) 85,0002 x5 *22 *13] 850
Os&dE =& & otAEA
20,0002 *3H*6E +32] 1,080
OSLREN g22d s £&
85,0003 x2& x2 2 «32] 1,020
206 M=l 44,170 37,570 6,600
01 MZH| 44,170 37,570 6,600
OFAL HIINE=E RAE+S MM 7L 15,120
o= #X g oty LED S S
150,000 x65+ 122 9,000
oFM Y BHE £ NN P
85,000 65122 6.120
Otad 22| == Ui
50,0003 2404 2 1,200
O&FAL &Cl2el HI=2l 35
5,000 »4E+45% 900
OBA ARA WUE)| B SLIE 7Y
500,000 = 10CH 5,000
O =tEazE & A7 B35 1Y
20,0002 90 1,800
OW2ter gaxiziH 72
50,0003 »242|x2JH A 2,400
O2EAH, 2L ML A8, &
A Y 30,0002 *75H 2,250
OS2 AL & FHEA HIAEXD] HZH
1,5002 *200L*3CH 900
OREA W] 01012, B4HET 79
4,000,000 *20H 8,000
O MULIIE 4 2 7Y
3,300 *2,0000HK 6,600
401 AlEHIZ 2018 765,000 295,000 470,000
01 Al&H| 765,000 295,000 470,000
OZ2FAL 2 gl & HHUH SAH
350,000,000 * 14 350,000
OZ2F AL KIot=XHE 15 23 E SAt
300,000,000& *14] 300,000
OZFHA UMY 28HE SAH
15,000,000 * 14| 15,000
OZFAL Aot TAIDMA D] 018 &Y
30,000,000 * 14 30,000
O2F AL XIot==Xt& CCTV X SAt
50,000,000& * 14! 50,000
OZXZDHE HE ALRA HHXI SAH
20,000,000& » 14 20,000
405 KHaHF S| 4,500 8,500 24,000
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2A:

)

Hu: S U T 2] SY(LUDDUT/ABHT)
Rl MEta SMFA 2 (SH9 H2)
I
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
SOAEA, =SSAIE 24 HIO =
Xpte| 24 70,0002 +550H £ 3,850
SOIAEAL, RSAALB FI| 22 2%
J FX2el 24 300, 000& *50H 1,500
SO0 ME AL CCTV = Al 22l
500,000 «11CH*20f% 1,100
SOHAEA, =SAES == 23| &
EtOID] A 55,00021+2004 A 1,100
SOINEAL, 2SAASZ HISAH o =
A8 3,000,000 +2JH 2= +23] 12,000
SOIMEAL, 2EANLT SDY SHHF
=A== 1,000,000& *22 2,000
SOAEA, STAIES S0 d54Y|
9 2HE A2l 24
80,000 * 10221 A 1,600
SOAMEA Hlaf2 &) FA2 2+
800,000 *x2CH*13] 1,600
SUHANFA EHEZEH| FA2Ae| 24
3,000,000 * 104 2 3,000
202 04l 4,280 4,520 A240
01 2LHoIH 4,280 4,520 A240
OA=FAL A= B
20,0003 x3H &« 123 3,600
Ozl A=K SH&s] HAE AS
85,0002 *4H*x22L x13] 680
206 M=l 11,570 11,570
01 M= H| 11,570 11,570
OWAEA, =SSAE2 AFIAHEH| =
NESE I} =
7,0003 *51E+5I x20H 2 3,570
OWKNEAL =SSAE2 )|, ALAE=
mANE+E MM 2L
10,0002 x155+20H 3,000
OWAMNEAL =SEAE2 02 I & At
M 100,000 x25+10H 2,000
OCAEAL, =SUAER =5 & sttt
E A7 20,0003 *55+53] 500
OWNEAL 2SAIE 22 HIS 78
500,000 *20H A 1,000
OWANEAL =SSAIE2 ot BAZ &5
-8 5,000 1502 *20H £ 1,500
401 A2 HIRL R 0HHI 312,988 240,000 72,988
01 Al&HI 312,988 240,000 72,988
OGMEAN S+BE & M=X Wi SA
37,663,000 * 14 37,663
OCIAEAL =2 WIS AL
48,425,000 * 14 48,425
O ME AL J1AHI& MCCEF WIS A
32,300,000 *14] 32,300




2A: HD
B 5 Y A DRl S (UNDIHE/AnHE)
SRl NMEtL SAFHAL 242 (CHol: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OWMEA XISt &0 HUISA
32,300,000 & 14! 32,300
OUHNEAN S& L3 A
132,300,000 * 14 132,300
OUAMEA QAJAIRA L FAHA EXISA
30,000,000 * 14 30,000
405 Rt SHI 2,500 2,500
01 ML =ZFSHI 2,500 2,500
OWNEA, ZsLAE2 StEA IO 2L
250, 0002 * 1004 2,500
= - HEAL EZA 174,520 27,100 147,420
202 04d| 2,520 2,100 420
01 =LHO4 L] 2,520 2,100 420
OS5 - HEA SXIZAHHEEH S)
20,0002 37 A+6E 2,520
401 AIEHIZL 201 172,000 25,000 147,000
01 Al&HI 171,136 24,730 146,406
OLctHARA QIRA HU|ISA
15,000,000 14! 15,000
OSEUMRBL LF LD &5 WHBA
37,000,000 14 37,000
OEHAIRA HE ZtAF 2|22
120,000,000&%99.28/100 119,136
03 Al 0HYI 864 270 594
OLPIAIRA Xg BIAF 2122
120,000,000 *0.72/100 864
SEA A -5 & 2FHH 313,160 142,160 171,000
202 o4t 2,160 2,160 0
01 =LHO4 L] 2,160 2,160 0
FOIME A SEXIZAHAEEH S)
0,000& x4 H +33|+x9& 2,160
401 Al HIZL 200 311,000 140,000 171,000
01 Al&HI 307,891 138,490 169,401
AUSZOIME BD Y W SER| Pa
SAt 80,000,000&*99. 1/100 79,280
OREs=x0dH M3 SHA cl=2ed
22,000,000 *98.92/100 21,763
OANNS=RIHEH 23
23,000,000 *38.92/100 22,752
OSRsx0dy CCTvaxl & & 2|29d
58,000,000 *39. 1/100 57,478
OZEUSFOUMEH &E B4+3AH(FRIEN)
30,000,000 *98.92/100 29,676
OMLSFOIHE AES(F1) ZEISA
50,000,000 *38.92/100 49,460
OREFVUME SHYSTA
48,000,000&+98.92/100 47,482




SA: 3D
A B ¥ WA 22| 2 (LeSSHY/LeAE)
SRl MEtA SMFAR 2 (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Al 20HHI 3,109 1,510 1,599
Oyes=ody &1 &= & Sthel B
SAt 80,000,000& *0.9/100 720
ORCSFoME A AL cl2E2(1.08%
) 237,000 *14] 237
OANSFRIME &K (1.08%)
248,000 x14] 248
OEFSFUMH CIVEX & F1 2|2Ed
58,000,000& +0.9/100 522
OZSx0HH &H 23AHFEEA)
30,000,000 *1.08/100 324
ONZSFLHE AIZS(E1) HISA
50,000,000& *1.08/100 540
O=sSFeHH a3 AH1.08%)
518,000& 14 518
SAUHAARA AF 297,500 297,500
401 Al HIZ S 0HbI 297,500 297,500
01 AlZ2H| 295,120 295,120
Of&tEARR A FXBAH #E0l e 2%
2t ZEBA 297,500,000&99.20/100 295,120
03 Al 20HHI 2,380 0 2,380
O&MANR A FAZH HE0 HE AR
S ZESA 297,500,000& *0.80/100 2,380
SHEYA MF 1,988,000 1,988,000
201 er23y| 8,000 8,000
01 AtR2t2|HI 8,000 8,000
OFEET4 MK HE 0lAIEY
4,000,000 22| 8,000
401 A2 HIRL R 0HbI 1,980,000 1,980,000
01 Al&HI 1,943,334 1,943,334
O=ZEYL UF
1,940,000,000& *98. 11/100 1,903,334
OZZEZA YA AR 2122
40,000,000 * 14 40,000
02 Zcltl 29,682 0 29,682
OFEEHA UF(AF,8],48)
1,940,000,000&+1.53/100 29,682
03 Al 20HHI 6,984 0 6,984
O=ZEYL UF
1,940,000,000& *0.36/100 6,984
HHAIRA &= 11,500 20,000 28,500
201 fer23| 11,500 0 11,500
01 AtR2t2|HI 11,500 0 11,500
OEHAIRA AF0 2 0lAIESH
11,500,000 x 12l 11,500
E24s FU(MINEH &= 4,785,540 214,460 4,571,080




SA: 3IHD
Mz gH L TR 2R SE(UBH22SHE /UBISHE )
S MEtA sMEA 22| (CHol: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
401 A& H|ILE0HY] 4,785,540 214,460 4,571,080
01 Al&HI 4,613,740 214,460 4,399,280
O24= FOI(XX)AE A= ZAH|
4,785,540,000& *96% 4,594,119
O24= FO(XXN)HEH Al AAHOCRE
]l 4,785,540,000& *0.41% 19,621
02 Zelbl 159,838 0 159,838
O22= F0I(RX)AHE A= 2eld]
4,785,540,000& *3.34% 159,838
03 Al 20HHI 11,962 0 11,962
O24S FO(MXN)AE A= AE20181(0.2
5%) 11,962,000 & * 14 11,962
HE2AAH|(2H D) (DIEHDIEH 123,746,677 117,203,846 6,542,831
= 22,602
c 158,000
Al 123,566,075
ol =2 122,481,746 115,990,695 6,491,051
= 22,602
& 158,000
Al 122,301, 144
olA=29H| =& 122,285,549 115,798,084 6,487,465
c 158,000
Al 122,127,549
101 Q124d| 118,494,149 112,251,124 6,243,025
= 158,000
Al 118,336, 149
01 B2 95,559,616 92,512,266 3,047,350
OdEH =0 (9) 8,361,682
oAl & 107,440,000+ 1H 107,440
SLINR 112,906,000&*1H 112,906
o432 98,884,000 *11H 1,087,724
obhad 84,991,000 x82H 6,969,262
SYNE=ST 84,350,000 *x1H 84,350
Oz2Hd 20(1,760H) 66,808,842
S1or=1 4,340, 700&x550H « 128 28,648,620
o7z 3,511, 200& *450H = 122 18,960,480
o822 2,359,800&x325H x 128 9,203,220
9= 1,748,300 *390&H x 128 8,182,044
SPNEIN 3,379,400 x33H » 12& 1,338,243
o HAAL 3, 186,600& 10~ 12& 382,392
odad L 3,910, 10022 x 128 93,843
Oat2 2,505,332
odIALY
66,808,842,000 1/ 12+45%* 13| 2,505,332




A 3HL
M AZYR2AZHI(SAD) (OIEHIIE)
ciel: olte )
RA - BH - SHIEN) - HRAY - BAS ol &t A
(OFSREES] 8,219,940
SALAZ R+ (HAUZ) 2,295,646
—6=5 12,3213 +550E 10Al 2+ 128 813,186
-2 11,1303 #4502 x10Al 2t 12 601,020
-8=2 9,992 «325F +10AI 2t~ 123 389,688
-9=2 9,160& x3%0ZF +10Al 2+ 122 428,688
PNE; 11,6192 +33Z*10A1 2+ 123 46,012
— A 11,8763 x10Z*10Al 2t 128 14,252
g2 2,800
o 11,6643 x2Z+10A1 2H+ 123 2,800
oItERE 1,404,000
— B At 40,0002 %1, 100 * 128 528,000
—JIEPE 20,0003 %1,400F «12& 336,000
- =M XA 60,0002 x500E < 12& 360,000
a0 PUENVES
100,000& *150F « 122 180,000
oHILYINB 1,702,800
—5E0l&a~10&01E
50,0003 »270E * 122 162,000
— 100/t ~150( 2t
60,0003 x180F « 122 129,600
— 155014 ~20= 012t
80,0003 x220& « 128 211,200
—205 014 100,000 +800H * 122 960,000
—20H0[&H(F010HekE)
10,000 200E * 123 24,000
— 2501 & (FI10HFS)
30,0003 +600E « 122 216,000
o?Exd 141,600
-=3 50,0003 *100Z 122 60,000
-85 40,0002 +170F « 122 81,600
ocliRERE+E 1,081,734
-5sU= 177,960 x290H 122 619,301
-6=2U<R 146,4103+210E + 122 368,954
-7=202 110, 3203 x25F 123 33,096
-8 83,9002 +10F 122 10,068
— KIS At 151,510 +23F « 122 41,817
— A 141,6203+5E+ 128 8,498
o AReE 80,156
-5 4,947 9003 » 15 122« 80,156
oRHIRRASE 50,0002 *20F <122 12,000
cSxX2R+H (M) 50,880
-SX 60,0003 6 * 122 4,320
PN 50,0002 x40« 12& 24,000




2A: HD
M AHAH2HAHI(SIAHL) (DIEHDIIE
chel: oli2aly| CLEE
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
-=Xl 40,0003 +32F« 123 15,360
—x 30,0002 202 * 128 7,200
oJ|l=dEsY 220,440
PN = 60,0003 x2F 123 1,440
—-52 - RIS AL 50,0003 +65F 12& 39,000
—6~7= 30,0002 *360H 122 129,600
—8=0I5t 20,0002 +210H + 122 50,400
olI=3E4903 144,600
=JI=Al 50,0003 «8H 123 4,800
—JIsE - JIM 30,0002 *300H 122 108,000
—&FHDIA 20,0002 *100Y 122 24,000
-2& - FHul(672)
10,0003 x25F 122 3,000
-28 - Jdl(893)
20,0003 +20E 123 4,800
cHADAY 16,800
— 14012t 20,0003 3« 12& 720
—180/4~330| 2t
30,0003 +«3F 123 1,080
—350/4 50,0003 +25E 123 15,000
o 2R 5,748
-6= 32,0003 =2« 12& 768
-2 25,0003 *7F 128 2,100
-8=0I5t 20,0003+ 128+ 12& 2,880
cQIAAR Y 50,0002 *140H 122 84,000
oA EXNE RS
70,0003 =250 * 123 210,000
oANSXHRLE IHAZ(HAHEB)
30,0003 *170F =123 61,200
= R R S 439,320
-5 %3 630lct
70,0002 +480H « 122 403,200
-BANA - g4
70,0003 *428 « 12& 35,280
- =SNG AE
70,0003 *1H 123 840
S EEEpe 14,400
—240|4& 340|2t
150,000 x2F 122 3,600
_3L§|O|AI- 4L_:||:||Cl|»
250,000 x2F 123 6,000
—4E0[ 4 400,0003x 14+ 122 4,800
co gy 151,800
—USAZSRH, AZIIMHAREE
50,0003 *30Z « 12& 18,000




SA: S
H: H™SAAHI(3H D) (OIEHIIE
el QIEE2E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-2ggns 100,0008! *20% * 122 24,000
-HANBAY 99,000
=YD 350, 0008 * 152 * 1284 63,000
SN 250, 0008 * 122 * 128 36,000
—=9f A} 300,000 *3 » 128 10,800
o AA%E 8,280
-52 30,0002 * 1% 128 360
-63015t 20,0002 x33% » 128 7,920
SEEE= 61,416
-62 40,0002 x224* 122 960
-72 38,0002 12+ 128 456
-SSHFSOHAAD3, HENR16, 2
S&1) 250, 0008 202 * 128 60,000
S 80,0002 * 12 128 11,520
SEPN=ER= 21,600
-43 100, 0008 *1Z 128 1,200
-52 80,00024+32* 1284 2,880
-62 60,0002 11128 7,920
-72 50,0002 * 162 * 128 9,600
OZAZ A 140,0008! *1,810% * 128 3,040,800
OYHSII|
66,808,842, 00021 *1/ 124600+ 13l 3,340,443
O A 1,752,577
CHEN(RAIF, 42, 53, NED)
8,408,591,0002 1/ 12x78%+86%x1/30% 10 156,587
o5
66,808,842, 0002 *1/12x86%+1/30% 102 1,505,990
OK0IER g 1,530,000
SHEM SO0 X
1,500,000 +80% » 128 1,440,000
cTXFOIF AT (3MNE)
2,500,000 * 12 +32 90,000
02 JIEFE 24 7,736,442 4,828,464 2,907,978
OHAAE(36Y) 1,966,082
|23 1,400,296
- 1501 gt 2,335, 2002122 * 128 336,269
-234 0] et 3,264,60021 1224 x 122 470,108
-30& 0| et 3,833, 2002 #4%* 122 183,9%4
—30 014} 4,270, 1002 +82* 122 409,930
oFI4g 3,241,430 +45-36 2 +23] 105,023
SAAATLSS(FAUR) 45,117
— 150/ e 9,523 142« 10A| 2H+ 128 15,999
-23 0|2t
10,2472 %11 *10A12H+ 128 13,527




SA: 3D
. AZ2ZHI(AD) (OIEHIIE
s lIEE2ghl EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—30&0/2t 11,2723 x4 *10A1 2t 128 5,411
—30=01& 12, N9 +7*10A1 2t 123 10,180
oItESY 30,000
i SN} 40,0002 x28E « 12 13,440
—JIEE 20,0003 x24E 12 5,760
- =M A 60,0002 «10E*12& 7,200
— A A ol= 100,000 =3+ 122 3,600
oZ=sktrE 3,720
-uE 50,000 x1&8* 122 600
- 40,0003 =2 * 123 960
- 30,0002 6~ 12 2,160
odI=Ekts 37,320
—5E0l&a~10&01E
50,0009 * 122 5,400
—10=0l&~1540| 2
60,0002 x5 * 12 3,600
—1580[&~2040( 2t
80,0002 x8& * 12 7,680
—2040/ & 100,000& x14&12& 16,800
—204 014 (FIteta)
10,0003 x5« 12& 600
—25H01&(FIDHS)
30,0002 +x0& * 122 3,240
oy AHIAH| 140,000 «36E 122 60,480
o HE S I 117,662, 7002 «22| x60fk 141,196
oIS A
1,411,952, 4002 «1/12+86%+1/30% 102 33,730
oXg 24| 69,600
—234 012t 155,000 x22E « 128 40,920
—-2330l4 ~ 30H0(2
165, 00021462 122 11,880
~3081012¢ 175,000 582+ 128 16,800
CSHDRAL| (U EEY)
50,0002 x36H 122 21,600
oXelxg 250,000 x6E «12& 18,000
OAR25(0Y) 2,253,690
SPES= 1,821,420
-9=244 1,686,500 «*00H 122 1,821,420
CAUR2RFH(FHUE) 98,928
-9=4¥ 9,1602 0 10Al 2t 12 98,928
odASAHI 140,000 00 < 122 161,200
oHESIHI 182,142
-924¢ 151,785,000 x60%+*22] 182,142
OLErAIIMI(192) 1,183,162




SA: S
Za: #HSSAHI(312 D) OIEHIIE
s lIEE2ghl EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
col= 1,006,471
-2IIN(62oE) 62,971,000 x4 251,884
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